SRERHA

4H8H
RERS TUILF—FKE
- T f= Pl % -3 -3 FE MR RRSNDBIENHERESINT-200 B
AR AL W B (XA [N Z W5 E B V| WA A F[F[[C|E]&[K|A|N| B TRICRE:
I N S oMz E || <L || BB FE|F|E A E|F| B E ¥ A3
I I R # ] & £ 5ly|ala # + ol F
mEs A o I S # | &2 S|z >
o = F
7 ||
= VY
g keal g mg mg g g
ClFA EES 110] 394 6.7 6 0.9 0.6 0.0
WREZE AIREE 160] 115] 10.6] 138 1.4 0.6 0.2 D
SUER 30 71 5.3 2 0.3 0.0 0.0 o
1ZACA 20 7 0.2 5 0.0 05 0.0
BhtRE 25 9 0.4 9 0.1 0.6 0.0
1ZA1=< 03 0 0.0 0 0.0 0.0 0.0
L&SA 0.7 0 0.0 0 0.0 0.0 0.0
& 0.7 6 0.0 0 0.0 0.0 0.0 [
FEF Ry T 3 4 0.1 1 0.0 0.1 0.1
LB LESWD 4 3 0.3 1 0.1 0.0 0.6 [ [
FoA T 15 4 0.1 1 0.0 0.0 0.1 [ [ [
KA 7 13 0.9 9 0.3 0.3 0.9 [ [
=17 1 4 0.0 0 0.0 0.0 0.0
AL 0.4 0 0.0 0 0.0 0.0 0.1 ®
TR PESL 0.1 0 0.0 0 0.0 0.0 0.0 o ol e
K 30 0 0.0 0 0.0 0.0 0.0
AEH 2 7 0.0 0 0.0 0.0 0.0
CFEM 04 4 0.0 0 0.0 0.0 0.0 ®
BROFEMZ Y&LESHPL 45 6 0.8 5 0.1 0.6 0.0
1ZACA 5 2 0.0 1 0.0 0.1 0.0
=5l 10 1 0.1 3 0.0 0.1 0.0
Bo 2 12 04 24 0.2 0.2 0.0 []
CL<BLESWD 28 2 0.2 1 0.0 0.0 0.4 [ [
¥ 0.9 3 0.0 0 0.0 0.0 0.0
BUEE 2.2 1 0.0 0 0.0 0.0 0.0 [
BiE 0.1 0 0.0 0 0.0 0.0 0.1
CEM 0.2 2 0.0 0 0.0 0.0 0.0 [)
BIFELSE E&5S (8% Ca) 35 75 2.1 55 0.8 0.5 0.4 [ D IO
AR 15 14 0.0 0 0.0 0.0 0.0 []
ZDEQHER—T ZDE-IF 10 2 0.3 0 0.1 0.4 0.0
ERE 4 1 0.1 3 0.0 0.1 0.0
PR pESL 0.8 2 0.2 0 0.0 0.0 0.3 D o e
BiE 0.4 0 0.0 0 0.0 0.0 0.4
ZUKELESW 0.8 1 0.1 0 0.0 0.0 0.1 [ [
43 43 206] 138 68| 227 0.0 0.0 0.2 [)
= 7228 903 357] 491 43 47 39
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4898
RERS FLILF—FKTR
— T f= h % -3 -3 FE MR RRSNDBIENHERESINT-2060 B
AR AL Mo B (XA [N Z W5 E B V|V A|F[F[[C|E]&[K|A|N| B TRICRE:
I - oM o ez E || <L | BB FE|F|E A E|F| B E ¥ A3
= * < b ‘f’E & £ | U Sl lvlalAa # + | F
BEE HHE y | b ' A w | = AR v
D = F |
e v |
£ AR
g kcal g mg mg g g
ClFA EES 110] 394 6.7 6 0.9 0.6 0.0
BAOEMAEBIT EYHLA 90| 184| 149 5 0.5 0.0 0.2
L&ShY 0.4 0 0.0 0 0.0 0.0 0.0
CLXBELESW 5 4 0.4 1 0.1 0.0 0.7 [ [
pii] 2 2 0.0 0 0.0 0.0 0.0
AZEH 8 26 0.0 1 0.0 0.0 0.0
EEEy:] 9 83 0.0 0 0.0 0.0 0.0 D
(fhgEE/TUh F/3TUH 10 3 0.1 1 0.0 0.2 0.0
BiE 0.05 0 0.0 0 0.0 0.0 0.0
BChEBRRD O BeE iR 20 24 24 3 0.2 0.0 0.4 [ D)
FrAY 30 7 04 13 0.1 05 0.0
f-FRE 20 7 0.2 4 0.0 0.3 0.0
IZACA 8 3 0.1 2 0.0 0.2 0.0
BiE 0.2 0 0.0 0 0.0 0.0 0.2
BIlsd 0.01 0 0.0 0 0.0 0.0 0.0
CLXBELESW 1 1 0.1 0 0.0 0.0 0.1 [ [
AARE—Y—R 1 1 0.1 0 0.0 0.0 0.1 [ D)
& 0.3 3 0.0 0 0.0 0.0 0.0 [
hOhOEERDY S [ERT) 6 21 0.0 1 0.0 0.2 0.0
hybbhhd 1 1 0.2 8 0.1 0.4 0.2
O—Z/\Ls 8 16 1.3 1 0.0 0.0 0.2 [
w54 5 1 0.1 1 0.0 0.1 0.0
BB 4 1 0.0 0 0.0 0.0 0.0 [
CLXBELESW 2 1 0.2 1 0.0 0.0 0.3 [ [
Iq=17] 2 8 0.0 0 0.0 0.0 0.0
CEH 0.3 3 0.0 0 0.0 0.0 0.0 [
BCF 1 6 0.2 12 0.1 0.1 0.0 []
AEF RFEF 40 77 0.3 13 0.2 1.2 0.0 [ ®
FFELREOHTIT AREE 20 14 1.3 17 0.2 0.1 0.0 D
BARE 6 2 0.1 2 0.0 0.2 0.0
HET 6 12 08 6 0.2 03 0.7 ® [)
SERANEZL 0.5 1 0.1 1 0.0 0.0 0.2 D
1B EL(I RV RER) HEBRACITGREE) 133 51 44] 225 6.9 0.5 0.1 D
= 54976] 957] 344] 324 95 49 34
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48108
RERS TUILF—FKE
— T f= h % -3 -3 FE MR RRSNDBIENHERESINT-2060 B
AR AL Mo B (XA [N Z W5 E B V|V A|F[F[[C|E]&[K|A|N| B TRICRE:
I - oM o ez E || <L | BB FE|F|E A E|F| B E ¥ A3
1= * < b # 4 £ | W 5y |lalA # + ST
AR 4 y |1 ' | A © | & ol Il 7
D = F |
e v |
g vy
g kcal g mg mg g g
ZlFA EES 110] 394 6.7 6 0.9 0.6 0.0
F)arvh—r SR 20 37 4.1 1 0.1 0.0 0.0 [
AEKE 30 42 3.9 30 0.5 2.0 0.2 D
f-FEhE 40 15 0.4 8 0.1 0.6 0.0
FA XN ER) 25 5 0.2 2 0.1 03 0.0
ISALA 10 4 0.1 3 0.0 0.2 0.0
1ZAl=< 03 0 0.0 0 0.0 0.0 0.0
EE:] 1 9 0.0 0 0.0 0.0 0.0 [
INEH 1.5 6 0.1 0 0.0 0.0 0.0 [
rrTFeyT 5 6 0.1 1 0.0 0.1 0.2
CLXBEL LS 1 1 0.1 0 0.0 0.0 0.1 [ [
[FBY—R 2 3 0.0 1 0.0 0.0 0.1
FIA 1 1 0.0 0 0.0 0.0 0.0
BiE 0.75 0 0.0 0 0.0 0.0 0.7
BIlsd 0.03 0 0.0 0 0.0 0.0 0.0
F)I8yF— 0.2 1 0.0 1 0.1 0.0 0.0
X 10 0 0.0 0 0.0 0.0 0.0
VLEYSH FLULE 1.2 2 0.1 12 0.1 0.6 0.1
FrAY 30 7 04 13 0.1 05 0.0
IZACA 6 2 0.0 2 0.0 0.1 0.0
r—)La—> 8 7 0.2 0 0.0 03 0.0
FYSE 1 6 0.2 12 0.1 0.1 0.0 D)
MEARLYI 2T 6 12 0.1 1 0.0 0.0 0.2 [ [
Ny aRTh Ny aRTE 30 62 0.6 0 0.0 0.0 03
A& 3 28 0.0 0 0.0 0.0 0.0 [
= 0.1 0 0.0 0 0.0 0.0 0.1
MDY TET 1MV T YT ILEE) 40 34 0.2 3 0.1 0.2 0.0
FARYDAVYAR—T FrY 20 5 03 9 0.1 04 0.0
O—Z/NL 8 16 1.3 1 0.0 0.0 0.2 [
TBRERTL 0.6 2 0.1 0 0.0 0.0 0.2 [ [) D
& 0.4 0 0.0 0 0.0 0.0 0.4
ZLKBELESWD 0.5 0 0.0 0 0.0 0.0 0.1 [ [
BILl&L> 0.02 0 0.0 0 0.0 0.0 0.0
43 EN 206] 138 68| 227 0.0 0.0 0.2 [)
= 6186 845 260] 333 23 6.0 31
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RERS TUILF—FKE
— T f= h % -3 -3 FE MR RRSNDBIENHERESINT-2060 B
AR AL M| B (XA [N Z|[W|E|E| S|V O] L[A|X|[F[|C|E|[S|BHB|K|[/N|B|R[HK|L]Y]E
I - oM o ez E || <|L|v || B3| FE|F| B A|E|F B E ¥ A3
I I ~ #wooH £ | U 5y |ala # + o7
AR 4 y |1 ' | A © | & ol Il 7
D = F |
e v |
= AR
g kcal g mg mg g g
ZlFA EES 110] 394 6.7 6 0.9 0.6 0.0
BRAOEAS Af-0—2A 60] 158] 116 2 0.2 0.0 0.1 D
& 0.5 0 0.0 0 0.0 0.0 0.5
Bolsd 0.02 0 0.0 0 0.0 0.0 0.0
INEH 4 15 0.3 1 0.0 0.1 0.0 o
3800 20 30 2.5 10 0.4 0.0 0.1 o
& 0.3 3 0.0 0 0.0 0.0 0.0 D
(thHh7ayay— Jayal)— 20 7 0.9 8 0.2 0.9 0.0
BiE 0.1 0 0.0 0 0.0 0.0 0.1
Iha=Rar—+ Ro3 15 57 1.8 3 0.2 0.4 0.0 [
SIOEA 8 19 1.4 0 0.1 0.0 0.0 o
f-FRE 20 7 0.2 4 0.0 0.3 0.0
IZACA 10 4 0.1 3 0.0 0.2 0.0
1ZAl=< 0.2 0 0.0 0 0.0 0.0 0.0
rerTFeyT 5 6 0.1 1 0.0 0.1 0.2
DRE—Y—R 2 2 0.0 1 0.0 0.0 0.2
BiE 0.2 0 0.0 0 0.0 0.0 0.2
BHIlsd 0.01 0 0.0 0 0.0 0.0 0.0
A& 0.2 2 0.0 0 0.0 0.0 0.0 D)
a—)LRA—HSH Ty 30 7 0.4 13 0.1 05 0.0
Ew>5Y 8 1 0.1 2 0.0 0.1 0.0
IZACA 8 3 0.1 2 0.0 0.2 0.0
a—J)LRA—FLyi 5 7 35 0.0 0 0.0 0.0 0.2 [ [ [] [
FESNAREIALF—DIT— F5NAES 30 6 0.7 15 0.6 0.8 0.0
4 F— 10 32 1.3 1 0.1 0.0 0.2 [
B 0.2 2 0.0 0 0.0 0.0 0.0 [
& 0.2 0 0.0 0 0.0 0.0 0.2
BIl&L> 0.01 0 0.0 0 0.0 0.0 0.0
HPOLENLDAVYAR—T Y&<ESEOL 15 2 0.3 2 0.0 0.2 0.0
O—Z/N\L 5 10 08 1 0.0 0.0 0.1 [
A7ELHLE 8 1 0.2 0 0.0 03 0.0
BRCERL 0.6 2 0.1 0 0.0 0.0 0.2 [ [) D o
ZLKELESWD 0.5 0 0.0 0 0.0 0.0 0.1 [ [
& 0.5 0 0.0 0 0.0 0.0 0.5
BILl&L> 0.01 0 0.0 0 0.0 0.0 0.0
43 EN 206] 138 68| 227 0.0 0.0 0.2 [)
= 60455 943 364] 302 28 47 31




SRERHA

48128
RERS TUILF—FKE
- T f= Pl % -3 -3 FE MR RRSNDBIENHERESINT-200 B
AR AL W B (XA [N Z W5 E B V| WA A F[F[[C|E]&[K|A|N| B TRICRE:
I N S oMz E || <L || BB FE|F|E A E|F| B E ¥ A3
f= * < 2 # & 3 Sl lvlalAa #H + T
mEs A o I S # | &2 S|z >
o = F
7 ||
= Vv
g keal g mg mg g g
ZlFA EES 110] 394 6.7 6 0.9 0.6 0.0
ES[EYA Lol 85 65 1.4 3 03 1.1 0.0
StrzbHH 30 55 6.2 1 0.2 0.0 0.0 o
IZACA 20 7 0.2 5 0.0 05 0.0
f-FhE 70 26 0.7 15 0.1 1.1 0.0
Libf=& 35 2 0.1 26 0.2 1.0 0.0
&M 1 9 0.0 0 0.0 0.0 0.0 [
X 5 0 0.0 0 0.0 0.0 0.0
HAERZL 0.3 1 0.1 0 0.0 0.0 0.1 o
LB LESWD 8 6 0.6 2 0.1 0.0 1.2 [ [
HYA 15 4 0.0 0 0.0 0.0 0.0
Na=F7] 3.5 13 0.0 0 0.0 0.0 0.0
TULE—RGEE) 3 3 0.2 1 0.1 0.2 0.0
SEDEREE e 50| 124] 103 3 0.6 0.0 0.2 D)
BiE 0.3 0 0.0 0 0.0 0.0 0.3
MNELLDRIS NEEL 25 23 0.5 4 0.1 0.9 0.0
INEW 3 11 0.2 1 0.0 0.1 0.0 [
K 3 0 0.0 0 0.0 0.0 0.0
SRS 3 28 0.0 0 0.0 0.0 0.0 [
& 0.2 0 0.0 0 0.0 0.0 0.2
= SYDHEAMZ oY 40 6 0.4 10 0.1 0.4 0.0
BiE 0.1 0 0.0 0 0.0 0.0 0.1
BULS 2 4 0.0 1 0.1 0.0 0.2
L <BLESWD 0.8 1 0.1 0 0.0 0.0 0.1 [ [
HYA 05 1 0.0 0 0.0 0.0 0.0
YYFLRIBOHZiT PFLEVZA 2 6 0.2 10 0.1 0.4 0.0
E3eYA 8 1 0.1 14 0.2 0.2 0.0
HT 6 12 08 6 0.2 03 0.7 ® [)
FEHFIETZL 0.5 1 0.1 1 0.0 0.0 0.2 D
43 43 206] 138 68| 227 0.0 0.0 0.2 [)
= 7227 941 357] 336 33 68 35
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48158
RERS TUILF—FKE
- T f= Pl % -3 -3 FE MR RRSNDBIENHERESINT-200 B
AR AL M| B XA N[ R || BT [H|F|F|<|C|S]|E|K|[KR]|/N|B[@R|HK[L]Y]E
I S oMz E || <Ly B|%|FE|F|EA|E|F B E ¥ A3
= * < ) # & £ U 5lvlal4 & + | F
mEs i v E A ) = s >
D £ F |
bl v ||
£ v
g kcal g mg mg g g
ZlFA EES 110] 394 6.7 6 0.9 0.6 0.0
EEV/N(Z(E?) SEVER 50/ 118 8.9 3 0.5 0.0 0.1 [
LLV=IF 15 3 05 0 0.0 0.6 0.0
BhtRE 15 5 0.2 5 0.0 0.4 0.0
CEil 0.5 5 0.0 0 0.0 0.0 0.0 [
1ZA1=< 0.3 0 0.0 0 0.0 0.0 0.0
L&SHY 0.3 0 0.0 0 0.0 0.0 0.0
aFaTrs 3 9 0.1 0 0.0 0.0 0.3 ®
LB LESD 2 1 0.2 1 0.0 0.0 0.3 [ [
Na=F7 0.5 2 0.0 0 0.0 0.0 0.0
b 05 1 0.0 0 0.0 0.0 0.0
EEV/N(F L) FLOFHOL 30 11 1.1 7 0.2 0.7 0.0 D)
IZACA 20 7 0.2 5 0.0 05 0.0
FAENCKE) 25 5 0.3 5 0.1 0.9 0.0
LB LESW 1.5 1 0.1 0 0.0 0.0 0.2 [ [ )
Na=}7] 0.6 2 0.0 0 0.0 0.0 0.0
CFEil 0.6 6 0.0 0 0.0 0.0 0.0 [
EEVNIZFINAEF L) F5ShAZS 25 5 0.6 12 0.5 0.7 0.0
CLBLESWD 0.8 1 0.1 0 0.0 0.0 0.1 [ [ )
Na=}7] 0.4 2 0.0 0 0.0 0.0 0.0
CEil 0.2 2 0.0 0 0.0 0.0 0.0 [
HOFE 0.5 3 0.1 6 0.0 0.1 0.0 [
BERBTA ST HIOKE) 25 46 28 12 0.7 0.0 0.1 [)
SDFEHIT 20 28 2.5 12 0.2 0.0 0.4 [
aAFaTrs 1 3 0.0 0 0.0 0.0 0.1 [
CLKBELEOW 1 1 0.1 0 0.0 0.0 0.1 [ [
Na=}7 0.5 2 0.0 0 0.0 0.0 0.0
HYA 05 1 0.0 0 0.0 0.0 0.0
FEMIREZL 0.1 0 0.0 0 0.0 0.0 0.0 [ [N ) [ ) []
FA¥XLF =5y 40 6 0.4 10 0.1 0.4 0.0
BiE 0.2 0 0.0 0 0.0 0.0 0.2
1AI=< 0.1 0 0.0 0 0.0 0.0 0.0
CFEil 0.5 5 0.0 0 0.0 0.0 0.0 [)
—REET 0.05 0 0.0 0 0.0 0.0 0.0
hheOR—T BhRE 10 3 0.1 4 0.0 0.3 0.0
Iy oY) 05 1 0.1 4 0.0 0.2 0.1
-F 05 3 0.1 6 0.0 0.1 0.0 []
[ EE 3 1.2 3 0.3 0 0.0 0.0 0.4 [ [N ) [ ) []
& 0.4 0 0.0 0 0.0 0.0 0.4
43 43 206] 138 68| 227 0.0 0.0 0.2 [)
= 609.25| 823 323 325 32 55 30
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48168
RERS TUILF—FKE
— T f= h % -3 -3 FE MR RRSNDBIENHERESINT-2060 B
AR AL M| B (XA [N Z|[W|E|E| S|V O] L[A|X|[F[|C|E|[S|BHB|K|[/N|B|R[HK|L]Y]E
I - oM o ez E || <|L|v || B3| FE|F| B A|E|F B E ¥ A3
I I R #wooH NG 5ly|ala # + ol F
AR 4 y |1 ' | A © | & ol Il 7
D = F |
e v |
g vy
g kcal g mg mg g g
ZlFA EES 110] 394 6.7 6 0.9 0.6 0.0
AUR)—F X LY hA 80| 116] 17.0 3 0.2 0.0 0.1 ®
1Al=< 0.7 1 0.0 0 0.0 0.0 0.0
HL—% 0.7 3 0.1 4 0.2 03 0.0
L&dh 1 0 0.0 0 0.0 0.0 0.0
CLXBELESK 3 2 0.2 1 0.1 0.0 0.4 [ [
rerTFey TS 5 6 0.1 1 0.0 0.1 0.2
[ES¥ ) 35 10 0.0 0 0.0 0.0 0.0
I—=7 Lk 8.5 5 03 10 0.0 0.0 0.0 []
HRTVhOFRET F/3TUH 10 3 0.1 1 0.0 0.2 0.0
&R 0.5 5 0.0 0 0.0 0.0 0.0 [
a—UHS5 FoRy 40 9 05 17 0.1 0.7 0.0
r—)La—> 10 8 0.2 0 0.0 03 0.1
IZACA 5 2 0.0 1 0.0 0.1 0.0
Ew>5Y 10 1 0.1 3 0.0 0.1 0.0
BiE 0.2 0 0.0 0 0.0 0.0 0.2
ILUFRLyI LG 10 4 0.0 0 0.0 0.0 03 [ [ [
mwEE Lopirg 35 27 0.6 1 0.1 0.5 0.0
BiE 0.15 0 0.0 0 0.0 0.0 0.1
BIlsd 0.01 0 0.0 0 0.0 0.0 0.0
S=HY— S=H— 30 27 0.6 3 0.0 0.1 0.0 D)
RARG—XEEBRHL— At=ht-A 20 43 3.7 1 0.1 0.0 0.0 o
& 0.09 0 0.0 0 0.0 0.0 0.1
BIlsd 0.06 0 0.0 0 0.0 0.0 0.0
FKIAY 8 6 0.0 1 0.0 0.0 0.0
[ES2Y ) 05 1 0.0 0 0.0 0.0 0.0
AL—IL9 18 92 12 16 0.6 0.7 1.9 ® 0 [] AN [ ]
A=ALIT— 18 19 03 4 0.0 05 0.0 ®
f-FhE 18 7 0.2 4 0.0 0.3 0.0
IZACA 10 4 0.1 3 0.0 0.2 0.0
X 130 0 0.0 0 0.0 0.0 0.0
43 EN 206] 138 68| 227 0.0 0.0 0.2 [)
= 79191 970 388] 307 23 47 36




SRERHA

48178
RERS FLILF—FKTR
- T f= Pl % -3 -3 FE MR RRSNDBIENHERESINT-200 B
AR AL MR R[N [WR[E | B[O [F[H[F[F[[S[S[E[R[X[S[B[®R[H[L[Y[E€
I N S oMz E || <Ly B|%|FE|F|EA|E|F B E ¥ A3
= F < ~ #wooH £\ U 5ly|al4 & + o\ F
mEs i v E A ) = s >
® = F
2 ||
= Vv
g kcal g mg mg g g
ZlFA EES 110] 394 6.7 6 0.9 0.6 0.0
SYYRTSAD-ZD) Wh 54 80 117 8.5 0 0.0 0.0 0.6 ® [ [
ZUV754 35 50 2.7 0 0.0 0.0 05 @ o ol [
A 11 101 0.0 0 0.0 0.0 0.0 [
FiRY—RUMNE) 6 8 0.1 3 0.1 0.0 0.3 [ [
FHRAILFrRY FrRY 35 8.4 0.4 15 0.1 0.7 0.0
BiE 0.1 0 0.0 0 0.0 0.0 0.1
CoehFEntbeoy RV 70 53 1.1 3 0.3 1.0 0.0
Liof=& 20 1 0.0 15 0.1 0.6 0.0
] 0.3 0 0.0 1 0.0 0.0 0.0
SRS 0.5 5 0.0 0 0.0 0.0 0.0 [
& 0.2 0 0.0 0 0.0 0.0 0.2
BILl&> 0.03 0 0.0 0 0.0 0.0 0.0
WESESZS iES) 20 13 0.4 9 0.1 1.1 0.0
1ZACA 5 2 0.0 1 0.0 0.1 0.0
=p5Y 5 1 0.1 1 0.0 0.1 0.0
R—)La—> 5 4 0.1 0 0.0 0.2 0.0
SERLYILG 4.5 16 0.4 18 0.2 0.2 0.1 [ [ [ [ ) [ )
<3*—X 5 35 0.1 0 0.0 0.0 0.1 [ [
$YCE 1.5 9 03 18 0.1 0.2 0.0 D)
FRFER—OLOIAVYAR—T f-FRE 15 6 0.2 3 0.0 0.2 0.0
A—ay 5 20 0.6 0 0.0 0.0 0.1 D
|RERIZL 0.6 2 0.1 0 0.0 0.0 0.2 [ [ [ ) [ )
BiE 0.5 0 0.0 0 0.0 0.0 0.5
LB LESD 0.5 0 0.0 0 0.0 0.0 0.1 [ [
BIL&> 0.02 0 0.0 0 0.0 0.0 0.0
43 43 206] 138 68| 227 0.0 0.0 0.2 [)
= 611.75] 966] 282] 315 1.8 45 30




SRERHA

48188
RERS TUILF—FKE
— T f= h % -3 -3 FE MR RRSNDBIENHERESINT-2060 B
AR AL Mo B (XA [N Z W5 E B V|V A|F[F[[C|E]&[K|A|N| B TRICRE:
o)L F Y w8y & b <Ly |y R B E| 0| B E|F A E 4|35
I I ~ LI £ | U 5y |ala # + o7
AR 4 y |1 ' | A © | & ol Il 7
D = F |
e v |
2 vy
g keal g mg mg g g
ZlFA EES 110] 394 6.7 6 0.9 0.6 0
SRS EBT 100] 209[ 109 8 0.5 0.3 1.3 [ D)
& 10 92 0 0 0 0 0 [
BhARE 10 3 0.1 4 0 0.3 0
—REFEF 0.01 0 0 0 0 0 0
BYEE 4 1 0 0 0 0 0 ®
CLXBELESW 2.5 2 0.2 1 0 0 0.4 [ [
Iq=17] 1.5 6 0 0 0 0 0
X 20 0 0 0 0 0 0
AEH 1 3 0 0 0 0 0
[sE0%9) FrRY 30 7 0.4 13 0.1 0.5 0
f-FRE 20 7 0.2 4 0 0.3 0
IZACA 10 4 0.1 3 0 0.2 0
StzbbA 20 37 4.1 1 0.1 0 0 )
RE 0.5 5 0 0 0 0 0 D)
BiE 0.3 0 0 0 0 0 0.3
2IL&S 0.02 0 0 0 0 0 0
LPLELNODEEDY) Y&<ESEOL 30 4 0.5 3 0.1 0.4 0
hybbhhsd 0.8 1 0.1 7 0 03 0.2
CLXBELESW 2 1 0.2 1 0 0 0.3 [ [
BRYEE 3 1 0 0 0 0 0 o
Iq=17 1.5 6 0 0 0 0 0
VLELSFESDOHERFAUS FLULE 1 1 0.1 10 0.2 0.5 0
ZIFS 10 7 0.2 5 0.1 0.6 0
IZACA 6 2 0 2 0 0.1 0
CLKBELESR 1.2 1 0.1 0 0 0 0.2 [ ®
=t 08 3 0 0 0 0 0
CEH 0.2 2 0 0 0 0 0 D
Z—if 0.01 0 0 0 0 0 0 D
FFEERBROAET ARE G 15 11 1 13 0.1 0.1 0 D)
WA 15 3 0.1 3 0 0.2 0
& 6 12 08 6 0.2 0.3 0.7 ® [)
FERIFNEZL 0.5 1 0.1 1 0 0 0.2 D
43 EN 206] 138 68| 227 0 0 0.2 [)
= 63884 964 327| 318 23 47 38
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48198
RERS TUILF—FKE
- T f= Pl % -3 -3 FE MR RRSNDBIENHERESINT-200 B
AR AL W B (XA [N Z W5 E B V| WA A F[F[[C|E]&[K|A|N| B TRICRE:
I N S oMz E || <L || BB FE|F|E A E|F| B E ¥ A3
I I R # ] & £ 5ly|ala # + ol F
mEs A o I S # | &2 S|z >
o = F
7 ||
= VY
g keal g mg mg g g
ORI NV RIS 70| 344 9.9 40 1.7 1.9 1.4 ® °
NOIN—=TRIRY—R I\ IN—Y (8% -Ca) 80] 150 90| 128 25 15 0.8 [ o e
f-FhE 20 7 0.2 4 0.0 03 0.0
Iy ¥ 5 1 0.1 0 0.0 0.2 0.0
& 0.5 5 0.0 0 0.0 0.0 0.0 [
FMMTF v T 8 10 0.1 1 0.1 0.1 03
hiEY—R 4 5 0.0 2 0.1 0.0 0.2
ISARRTH FFaSILAvERTE 50 22 0.3 0 0.0 0.0 0.0
&M 4 37 0.0 0 0.0 0.0 0.0 [
BiE 0.1 0 0.0 0 0.0 0.0 0.1
BERE BEREE 40 66 4.9 22 0.9 0.0 0.1 [) [
VS5 FrAy 45 10 0.6 19 0.1 08 0.0
1ZACA 7 3 0.1 2 0.0 0.2 0.0
=p5Y 10 1 0.1 3 0.0 0.1 0.0
FHMIE 12 32 2.1 0 0.1 0.0 0.1
FMERFLYL LT 8 16 0.2 1 0.0 0.0 0.3 [ [
BiE 0.1 0 0.0 0 0.0 0.0 0.1
FRINSGET—2DIT— FRINSHR 20 4 05 4 0.1 0.4 0.0
R—)La—> 10 8 0.2 0 0.0 03 0.1
HiE/N\E— 0.5 4 0.0 0 0.0 0.0 0.0 [
BiE 0.2 0 0.0 0 0.0 0.0 0.2
BILl&> 0.01 0 0.0 0 0.0 0.0 0.0
Fh¥E¥La—2DAL—Z—T f-ERE 10 4 0.1 2 0.0 0.2 0.0
1ZACA 5 2 0.0 1 0.0 0.1 0.0
R—)La—> 5 4 0.1 0 0.0 0.2 0.0
RERIZL 1 3 0.1 0 0.0 0.0 0.4 [ [ [
BiE 0.5 0 0.0 0 0.0 0.0 0.5
AL— 0.15 1 0.0 1 0.0 0.1 0.0
43 43 206] 138 68| 227 0.0 0.0 0.2 [)
= 62206 877 354] 457 56 6.4 48




SRERHA

48228
RERS TUILF—FKE
— T f= h % -3 -3 FE MR FRSNDIENHERSNT-204 B
AR AL M| B (XA [N Z|[W|E|E| S|V O] L[A|X|[F[|C|E|[S|BHB|K|[/N|B|R[HK|L]Y]E
I - oM o ez E || <|L|v || B3| FE|F| B A|E|F B E ¥ A3
I I ~ #wooH £ | U 5y |ala # + o7
AR 4 y |1 ' | A © | & ol Il 7
D = F |
e v |
= AR
g kcal g mg mg g g
ZlFA EES 110] 394 6.7 6 0.9 0.6 0.0
SEDHTE ES 60| 148] 124 4 0.7 0.0 0.2 o
s 6 12 038 6 0.2 0.3 0.7 o [
Iq=17] 4 15 0.0 0 0.0 0.0 0.0
B 1.2 1 0.0 0 0.0 0.0 0.0
HYh 15 4 0.0 0 0.0 0.0 0.0
CLSBELESW 1.2 1 0.1 0 0.0 0.0 0.2 [ [
L&dh 0.8 0 0.0 0 0.0 0.0 0.0
X 12 0 0.0 0 0.0 0.0 0.0
AEH 0.3 1 0.0 0 0.0 0.0 0.0
HWAITA SPVAITFA 6 1 0.1 3 0.0 0.1 0.0
BiE 0.1 0 0.0 0 0.0 0.0 0.1
BRADEZRE SzbbA 40 73 8.2 2 0.3 0.0 0.0 o
f-FRE 20 7 0.2 4 0.0 0.3 0.0
IZACA 7 3 0.1 2 0.0 0.2 0.0
L&Sh 0.4 0 0.0 0 0.0 0.0 0.0
CLXBELESW 3 2 0.2 1 0.1 0.0 0.4 [ [
HYA 1 2 0.0 0 0.0 0.0 0.0
B 1 1 0.0 0 0.0 0.0 0.0
Iq=17] 0.5 2 0.0 0 0.0 0.0 0.0
& 0.3 3 0.0 0 0.0 0.0 0.0 [
YYFLRIBOHEFZ w5y 10 1 0.1 3 0.0 0.1 0.0
GFLEVCA 4 12 04 20 0.1 0.9 0.0
CLXBELESW 2 1 0.2 1 0.0 0.0 0.3 [ [
BRYEE 4 1 0.0 0 0.0 0.0 0.0 [
=T 2 8 0.0 0 0.0 0.0 0.0
DD tiEE 11T DK E) 25 6 0.7 5 0.1 0.6 0.0
ZLKELESWD 0.7 0 0.1 0 0.0 0.0 0.1 [ ®
=t 05 2 0.0 0 0.0 0.0 0.0
HYA 05 1 0.0 0 0.0 0.0 0.0
EIBER 03 1 0.2 0 0.0 0.0 0.0
7 10 0 0.0 0 0.0 0.0 0.0
EEOTELIT AIBEE 15 11 1.0 13 0.1 0.1 0.0 D
BhE 5 2 0.1 4 0.1 0.2 0.0
ZLKELESWD 0.8 1 0.1 0 0.0 0.0 0.1 [ [
FERFNEZL 0.5 1 0.1 1 0.0 0.0 0.2 D
BiE 0.6 0 0.0 0 0.0 0.0 0.6
43 EN 206] 138 68| 227 0.0 0.0 0.2 [)
= 5632 856] 386] 302 26 34 31




SRERHA

4A238
RERS TUILF—FKE
— T f= h % -3 -3 FE MR RRSNDBIENHERESINT-2060 B
AR AL M| B (XA [N Z|[W|E|E| S|V O] L[A|X|[F[|C|E|[S|BHB|K|[/N|B|R[HK|L]Y]E
I - oM o ez E || <|L|v || B3| FE|F| B A|E|F B E ¥ A3
I I ~ #wooH £ | U 5y |ala # + o7
AR 4 y |1 ' | A © | & ol Il 7
D = F |
e v |
= AR
g kcal g mg mg g g
ZlFA BX 110] 394 6.7 6 0.9 0.6 0.0
EHYREE AEKE 22 31 2.8 22 0.4 1.5 0.1 D
A=A 13 24 2.7 1 0.1 0.0 0.0 o
BHEE 3 16 1.5 19 0.2 0.1 0.0 [
Lot 60 46 1.0 2 0.2 08 0.0
R & i 6 55 0.0 0 0.0 0.0 0.0 [
ISALA 10 4 0.1 3 0.0 0.2 0.0
E—<> 5 1 0.0 1 0.0 0.1 0.0
ZAlze 25 1 0.0 11 0.1 0.6 0.0
& 1 9 0.0 0 0.0 0.0 0.0 D
CLXBELESW 5 4 0.4 1 0.1 0.0 0.7 [ [
Ia=17] 1.5 6 0.0 0 0.0 0.0 0.0
HYA 1 2 0.0 0 0.0 0.0 0.0
X 40 0 0.0 0 0.0 0.0 0.0
S—hFLLY S— M LLY 50 61 36 15 05 0.3 0.6 [ [ [ [
FAUBTIFES D) 20 13 0.4 9 0.1 1.1 0.0
IZACA 7 3 0.1 2 0.0 0.2 0.0
FAEM 0.2 2 0.0 0 0.0 0.0 0.0 [
Ia=17] 0.9 3 0.0 0 0.0 0.0 0.0
HYA 0.4 1 0.0 0 0.0 0.0 0.0
CLXBEL LS 1.3 1 0.1 0 0.0 0.0 0.2 [ [
B 1 6 0.2 12 0.1 0.1 0.0 []
IF5SNAEDERL IF5NAEZS 15 3 0.3 7 0.3 0.4 0.0
Ye<ESEPL 30 4 05 3 0.1 0.4 0.0
CLXBEL LS 1 1 0.1 0 0.0 0.0 0.1 [ [
& 0.1 0 0.0 0 0.0 0.0 0.1
EIBES 03 1 0.2 0 0.0 0.0 0.0
LPOLELIDDR—T Y&<ESHOL 15 2 0.3 2 0.0 0.2 0.0
DI Py ) 0.3 0 0.1 2 0.0 0.1 0.1
ZLKELLSWD 0.5 0 0.0 0 0.0 0.0 0.1 [ ®
TP ESL 0.8 2 0.2 0 0.0 0.0 0.3 D o e D o
BiE 0.4 0 0.0 0 0.0 0.0 0.4
CEMh 0.2 2 0.0 0 0.0 0.0 0.0 ®
43 EN 206] 138 68| 227 0.0 0.0 0.2 [)
= 6529 836 281] 345 31 6.7 29




SRERHA

4F248
RERS TUILF—FKE
- T f= Pl % -3 -3 FE MR RRSNDBIENHERESINT-200 B
AR AL W B (XA [N Z W5 E B V| WA A F[F[[C|E]&[K|A|N| B TRICRE:
I N S oMz E || <L || BB FE|F|E A E|F| B E ¥ A3
I I R # ] & £ 5ly|ala # + ol F
mEs A o I S # | &2 S|z >
o = F
7 ||
= VY
g keal g mg mg g g
ClFA EES 110] 394 6.7 6 0.9 0.6 0.0
BADIEYHE EYThA 80| 116] 17.0 3 0.2 0.0 0.1
BoLl&> 0.03 0 0.0 0 0.0 0.0 0.0
BiE 0.3 0 0.0 0 0.0 0.0 0.3
B8 15 23 1.8 8 0.3 0.0 0.1 °
f-FhE 10 4 0.1 2 0.0 0.2 0.0
<3AF—X 12 84 0.2 1 0.0 0.0 0.2 ° [
12/t 0.03 0 0.0 0 0.0 0.0 0.0
BHOYRTH Lol 45 34 0.7 1 0.2 0.6 0.0
5 0.1 0 0.0 0 0.0 0.0 0.1
HHEDY 0.01 0 0.0 0 0.0 0.0 0.0
FRYDHL—YT— FrAy 40 9 05 17 0.1 0.7 0.0
1ZACA 8 3 0.1 2 0.0 0.2 0.0
&M 0.3 3 0.0 0 0.0 0.0 0.0 D)
YRE—Y—R 05 1 0.0 0 0.0 0.0 0.0
LB LESWD 0.3 0 0.0 0 0.0 0.0 0.0 [ [
& 0.2 0 0.0 0 0.0 0.0 0.2
HL—¥ 0.2 1 0.0 1 0.1 0.1 0.0
RINFTFAFRYEY RIFYTA 15 57 1.8 3 0.2 0.4 0.0 [
O—Z/N\L 6 12 1.0 1 0.0 0.0 0.2 [
f-FRE 15 6 0.2 3 0.0 0.2 0.0
[ 5 1 0.0 1 0.0 0.1 0.0
SRS 0.5 5 0.0 0 0.0 0.0 0.0 [
hiEY—R 1 1 0.0 1 0.0 0.0 0.1
M F v T 8 10 0.1 1 0.1 0.1 03
BiE 0.1 0 0.0 0 0.0 0.0 0.1
Bol&> 0.01 0 0.0 0 0.0 0.0 0.0
VLEEYSH FLUOLE 1.2 2 0.1 12 0.1 0.6 0.1
=Sy 10 1 0.1 3 0.0 0.1 0.0
1ZACA 10 4 0.1 3 0.0 0.2 0.0
ALY 2T 6 12 0.1 1 0.0 0.0 0.2 [ ]
RIBITERBOAEHT 5 3 12 0.7 9 0.1 0.0 0.0 D
WA 15 3 0.1 3 0.0 0.2 0.0
HT 6 12 08 6 0.2 03 0.7 ® []
FEHFIETZL 0.5 1 0.1 1 0.0 0.0 0.2 D
43 43 206] 138 68| 227 0.0 0.0 0.2 [)
= 63028 949 39.1] 316 25 46 31




SRERHA

4F258
RERS FLILF—FKTR
— T f= h % -3 -3 FE MR RRSNDBIENHERESINT-2060 B
AR AL M| B [A[A D[R | BV F D F|F|[C]&|&KB|X]| | B #E wiye
Lo £ > o\ ylic| &> Tl d|<|L|Y| Y BB FE|F|EAE|T| B E ¥\A|3
I I R #wooH NG 5ly|ala # + ol F
AR 4 y |1 ' | A © | & ol Il 7
D = F |
e v |
£ v
g keal g mg mg g g
ZlFA EES 110] 394 6.7 6 0.9 0.6 0.0
SESES %) StbbA 10 18 2.1 0 0.1 0.0 0.0 o
FoAy 30 7 0.4 13 0.1 0.5 0.0
Y&LEFEOL 30 4 0.5 3 0.1 0.4 0.0
f-FEhE 10 4 0.1 2 0.0 0.2 0.0
IZALA 5 2 0.0 1 0.0 0.1 0.0
Bif 0.4 0 0.0 0 0.0 0.0 0.4
BIlsd 0.02 0 0.0 0 0.0 0.0 0.0
CLXBELESW 1 1 0.1 0 0.0 0.0 0.1 [ ®
A 0.3 3 0.0 0 0.0 0.0 0.0 [
VFEIEA FCHME 20 53 3.5 1 0.1 0.0 0.2
FLAHKE 20 14 3.2 1 0.1 0.0 0.1
IZACA 15 5 0.1 4 0.0 0.4 0.0
BHEE 2 11 1.0 13 0.2 0.1 0.0 D)
Iq=17 1.5 6 0.0 0 0.0 0.0 0.0
CLXBELESW 2 1 0.2 1 0.0 0.0 0.3 [ [
HYh 1 2 0.0 0 0.0 0.0 0.0
L&ShY 0.4 0 0.0 0 0.0 0.0 0.0
BTIEFSINAE F5NAZS 25 5 0.6 12 0.5 0.7 0.0
CLXBELESW 2 1 0.2 1 0.0 0.0 0.3 [ [
WYEF 800 30 45 3.7 15 0.5 0.0 0.1 o
I4=17] 2 8 0.0 0 0.0 0.0 0.0
BiE 0.2 0 0.0 0 0.0 0.0 0.2
BRYEE 0.1 0 0.0 0 0.0 0.0 0.0 [
HEH 1 9 0.0 0 0.0 0.0 0.0 D
AREMIETOHZT [EXER 18 3 0.1 8 0.1 0.2 0.0
hiB T 5 21 12 16 0.2 0.1 0.0 D
HT 6 12 08 6 0.2 03 0.7 ® [)
FERIFNEZL 0.5 1 0.1 1 0.0 0.0 0.2 D
43 EN 206] 138 68| 227 0.0 0.0 0.2 [)
= 55442  768] 314] 331 31 36 28




SRERHA

4R268
RERS FLILF—FKTR
— T f= h % -3 -3 FE MR FRSNDIENHERSNT-204 B
AR AL M| B [A[A D[R | BV F D F|F|[C]&|&KB|X]| | B #E wiye
L I S w8y & || <|L|v |y B3| F|F| (R Z|F| R E #\h|35
L e N B LI £| U N # + ST
AR 4 y |1 ' | A © | & ol Il 7
D = F |
e v |
& vy
g keal g mg mg g g
VLECIRA EES 100] 358 6.1 5 08 05 0.0
VLECFADE 18 39 09/ 108 0.7 0.0 2.1 [
HLIFA HLIFA 60] 122 9.2 15 0.5 0.8 0.4 o o/
EE:] 6 55 0.0 0 0.0 0.0 0.0 D)
FIRY—RUNE) 6 8 0.1 3 0.1 0.0 0.3 D
P TREHPL FLFEHPL 25 9 0.9 6 0.1 0.6 0.0 D
Bif 0.1 0 0.0 0 0.0 0.0 0.1
EBisToEEE E3CT0 45 68 48| 108 1.2 0.3 0.0 o
|-LB%E 2 8 0.0 0 0.0 0.0 0.0
CLXBELESW 2 1 0.2 1 0.0 0.0 0.3 [) [
HYA 05 1 0.0 0 0.0 0.0 0.0
FMFIEZL 0.1 0 0.0 0 0.0 0.0 0.0 D)
X 20 0 0.0 0 0.0 0.0 0.0
BWEMZ FRY 40 9 0.5 17 0.1 0.7 0.0
Z#HDY 0.2 0 0.1 1 0.0 0.1 0.0
CLXBEL LS 1.8 1 0.1 1 0.0 0.0 0.3 [ [
BiE 0.1 0 0.0 0 0.0 0.0 0.1
YASE)— YACE)— 40 35 0.0 1 05 12 0.1
ConFELEREFEOHZT By 10 8 0.2 0 0.0 0.1 0.0
f-FhRE 10 4 0.1 2 0.0 0.2 0.0
HT 6 12 08 6 0.2 03 0.7 [ [
FEMFIE L 0.5 1 0.1 1 0.0 0.0 0.2 D)
43 EE0 206] 138 6.8 227 0.0 0.0 0.2 [
Aait 509.3] 877] 309 502 4.2 48 48




